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SECTION-A (1x2=2)
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Find the equation whose roots are three times the roots of the equation

X +2x2-2x+1=0. L E s
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Find the quotient and the remainder when the polynomial x> + 2x% — x + 4 is divided

byx+2.

SECTION-B (3x1=3)
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Find the greatest common divisor of the following polynomial f(x) = x3 — 3x2 + 2x — 6

and g(x) = x3 — 4x% + 4x — 3.
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Let 1y, 75, 75 are the roots of the equation 2x® —3x% + kx — 1 = 0 . Find constant k if
Sum of two roots is 1 and also find roots of the equation.

SECTION - C (5x1=5)
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Solve the biquadratic equation x* — 8x% — 12x2 + 60x_+ 63 =0 by Descarte’s Method.

OR

Fea B ¥ g ffSw- x3+6x2—-12x+32=0.
Solve the equation by Cardon’s Method. |



